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1. WNEBREEATE: v = 1.5677x - 0.0038, x ESIRERETREE (umol/mL) ,y E2A.
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Rz =0.99398
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FrifEm (umol/mL)
2. EEOREIR:

EN: SNEEERERESSRF ATP =% 1umol TTHBHNEL—INEEHEN.
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EgiEH(umol/h/mg prot)=[(+A+0.0038)+ 1.5677 xV2]+(V1xCpr)+T

=6.7/ = (~A+0.0038)+Cpr.

3. EEfrEEItE:

EY: ENEERENSEE ATP =% Tumol THBENES—IEEhEaan.
EEEH(umol/h/g EE)=[(cA+0.0038)+1.5677 xV2]+ (Wx\V1+V)=T

=6.7 = (2A+0.0038) W,

4, IRMFERAEEEITS:

ENEEE 1 A dEEsERs R ATP =% 1pmol THBENEL— S50
Eig(umol/h/104 cel)=[(=A+0.0038)+1.5677 =xV2]+(500=V1+V)+T
=0.0134={2A+0.0038)

5. miEhEERDITE:

EN B/MEERRESER ATP 4% 1umol THBMEAR—IEEiEhE L
EEiEa(pmol/h/mL)=[(+« A+0.0038)+1.5677 =V 2] +V1+T=6.7 x (= A+0.00 38)

V---in AR, 1mL; Vi1---hoAeEsEH, 0.1mL ;

V2---BERR S, 035mL; T---FRAdE, 1/3 /ad;

W---1¥58f8, g; 500---HAE=midE=2L, 500 A.

Cor---#ZFEERm%RE, mo/mL; BiERFLATINESSERISTE.

Bt : titERREEHIfEITE:

1 #EtRERE®R (Inmol/ul) : EiREsR EP EEEnA 06mL FHigk (BEEER
FRAB-20CESE) .

2 B RN MNRERENRER: 0,01, 02 0.3, 04, 05 nmol/pL. tEATRIEClR

e EEEnERRE.
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